J RIS I H Gisde H bR B F R

HigHER : 2021 F4H 16 H HBHifEs : 99 B{MESHEE .
I E &R A R F S TR B SChEEA T POk E
TE e POk TR 2 IHEREA AR
IHE @ 1. BEMD 2. MO 3. —RME 4 FiEHD
g &, it v Hith &t | HuTE .
. B . . . . | BT=xR
WE®E | (Bw) | (AR | (BA®) | (Bw) | (Bw) | (BXR)
KR
4 4 4 100%
TREEREERR | 1 MU0 0 A L 1 11 07 107 5 216 T R T 200K R0 3 7 2 P B P 6
MENRE | SRS | SE | B |8 SN R AR
BREEE TIRHISE LR s iR
=) £fs Z\ Ny &L
MERFK 25 | RESE | 2 2 it 29 | RETIES.
1. BESEEE 15 ;
BHIE 3 3 2. MEEESIE LS ;
3. BHEHTHETRE 19, SERES.
BB SENESEARSE 2 5, 18
4840
AL | 2 2 ey
mEEE 1. BITFUEER3Y;
135 BThE | 4 4 2. 1R (MBZHERSEE) 19, 188
TES.
1. MESMEFLREN 149 , BT
_ 0.5% , AL ;
BiRERR | 4 4 2. ERERIEE 1S, FHEH 059 ;
3, IBATEMBSRRERRT 24 , MERID 1 4.

TUH AR EAR 12 BLICIp 2 i B 1 o 7 A7 50 A2 S IR 20 A 2L A0 bk 222 P B o) 4%

mE | —%&

—% | e |FE ass e

St SRR

_1_




S |1 | f8tn |(=RdER) | (B | RE | D | D
855 . W 15000 5000 K15 L. SRRSO
HEE 2. SISO ERS RIS N TEIRE
#5159 (15 5+ =HgiR ), W RNREE
o | TEERE | A B 12 1. RSB RRRNDERH |
[REE 2. SIS ER= SIS N T RE

2 =12 43 (12 5+ =HIEF ), WERNREE

T 28 :

8045 | rn | FERTERE | AH[-AA 1. RIS R SEEERR ;
ENEEES 2. RIS ERSRISE R TIIHE
1R 6% (6% + =HIEHNE ), NEANREE

58
s |G 4 TG W TG [T 1. RH=RISFTRAARIDESR
FANE 2. RIS ER= RISE R TIMHE
RPN (7 5+ ZHIEHANE ), DERNREE
58
. 10 1. RS RIS R G IR
2558 2. SRIERSERS RIS RTIIHE
%104 (10 5+ =HIEIFA ), WERNREE
58
L 9 1. SRRSO SRR 2
eSS 2. SRIEFHER= SR TIIRE
.y 10 4> (10 S5+ =248 ), WS ANREE
X B,
Ny
LA 10 I e L
7T W 2. =SS ER= ISR T IIRE
=10 % (10 S5+ =248 ), WS ANREE
BL
s gy o | ORI [ 1. SRS RR |
Tt sk s 2 SaIES s 7
;H;%Ek KT [ A 2. SRIBFHER=FIET N TIIRE
N (59 + =HIEHRNE ), NERNREE
7 58
Eﬁi RSy (WLR TABEEA Wi i (10 1. Rt=RISRRREREES
R | e 2. =SS ER= RIS R TIIRE
=2 bt (10 95+ =HIEIRAE ), NEANFREE
10 %5 »
10 53 (= =¥ 7 B
&it | 85| 85 84
RS : 1. JEhnERR. ORI B AS , eI ;
2. ISHEROERE | RS SR M TIOIREESY , R R RS B TEREAEY  BRIEREHe

HDMENMEATHR_RISTS |
3. MEERISHMEIRSERRTeRAIEL BT E (IZBUEIRRTRDE*ERRTeRBIEILL ) ;

4,

MEMHEMET D RN

8 : 100%—81%. 80%—51%. 50%—0%.
5. MEEZ "EEBIR 1, 238 "FEBR #TENitS AEEESHE. 4 RmBEs=
MNMEEBR Birl1 B804 Bir2 Bif 6045 Bix3 BIFE 752 ZMBS&BED A (80+60+75)
+3=71.6 %, V&R 7255

AR ARIFRES  BOERTEIE —EMR | RATUHGE | MNOEX



